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Corrigé de l’exercice 1

Effectuer les conversions suivantes :

◮1. 2, 33 m2 = 233 dm2

◮2. 88, 7 dm2 = 887 000 mm2

◮3. 19, 1 m2 = 1 910 dm2

◮4. 26, 9 cm2 = 0, 269 dm2

◮5. 31, 1 dam2 = 311 000 dm2

◮6. 36, 1 hm2 = 0, 361 km2

km2 hm2 dam2 m2 dm2 cm2 mm2

2 3 3,

8 8 7 0 0 0,

1 9 1 0,

0, 2 6 9

3 1 1 0 0 0,

0, 3 6 1

Corrigé de l’exercice 2

Effectuer les conversions suivantes :

◮1. 39, 2 m2 = 0, 003 92 hm2

◮2. 28, 4 m2 = 284 000 cm2

◮3. 6, 86 dam2 = 0, 068 6 hm2

◮4. 78 dm2 = 0, 007 8 dam2

◮5. 4, 06 cm2 = 406 mm2

◮6. 46, 1 dam2 = 461 000 dm2

km2 hm2 dam2 m2 dm2 cm2 mm2

0, 0 0 3 9 2

2 8 4 0 0 0,

0, 0 6 8 6

0, 0 0 7 8

4 0 6,

4 6 1 0 0 0,

Corrigé de l’exercice 3

Effectuer les conversions suivantes :

◮1. 5, 42 m2 = 0, 054 2 dam2

◮2. 89, 3 cm2 = 8 930 mm2

◮3. 35, 9 dm2 = 0, 359 m2

◮4. 3, 62 dm2 = 36 200 mm2

◮5. 54, 5 m2 = 0, 545 dam2

◮6. 8, 76 hm2 = 87 600 m2

km2 hm2 dam2 m2 dm2 cm2 mm2

0, 0 5 4 2

8 9 3 0,

0, 3 5 9

3 6 2 0 0,

0, 5 4 5

8 7 6 0 0,

Corrigé de l’exercice 4

Effectuer les conversions suivantes :
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◮1. 3, 57 hm2 = 0, 035 7 km2

◮2. 4, 45 cm2 = 0, 044 5 dm2

◮3. 28, 8 dam2 = 0, 288 hm2

◮4. 59, 2 km2 = 5 920 hm2

◮5. 85, 6 dm2 = 8 560 cm2

◮6. 2, 87 m2 = 28 700 cm2

km2 hm2 dam2 m2 dm2 cm2 mm2

0, 0 3 5 7

0, 0 4 4 5

0, 2 8 8

5 9 2 0,

8 5 6 0,

2 8 7 0 0,

Corrigé de l’exercice 5

Effectuer les conversions suivantes :

◮1. 87, 4 hm2 = 8 740 dam2

◮2. 7, 65 cm2 = 0, 076 5 dm2

◮3. 1, 29 m2 = 0, 012 9 dam2

◮4. 1, 82 km2 = 182 hm2

◮5. 75, 5 cm2 = 0, 755 dm2

◮6. 7 km2 = 700 hm2

km2 hm2 dam2 m2 dm2 cm2 mm2

8 7 4 0,

0, 0 7 6 5

0, 0 1 2 9

1 8 2,

0, 7 5 5

7 0 0,

Corrigé de l’exercice 6

Effectuer les conversions suivantes :

◮1. 9, 51 hm2 = 951 dam2

◮2. 94 dam2 = 940 000 dm2

◮3. 4, 97 cm2 = 0, 000 497 m2

◮4. 87, 1 dm2 = 8 710 cm2

◮5. 40, 6 km2 = 4 060 hm2

◮6. 50, 2 dm2 = 5 020 cm2

km2 hm2 dam2 m2 dm2 cm2 mm2

9 5 1,

9 4 0 0 0 0,

0, 0 0 0 4 9 7

8 7 1 0,

4 0 6 0,

5 0 2 0,

Corrigé de l’exercice 7

Effectuer les conversions suivantes :

◮1. 9, 07 dm2 = 90 700 mm2

◮2. 82, 2 m2 = 8 220 dm2

◮3. 4, 07 hm2 = 407 dam2

◮4. 56, 6 cm2 = 0, 005 66 m2
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◮5. 61, 6 km2 = 616 000 dam2
◮6. 12 m2 = 120 000 cm2

km2 hm2 dam2 m2 dm2 cm2 mm2

9 0 7 0 0,

8 2 2 0,

4 0 7,

0, 0 0 5 6 6

6 1 6 0 0 0,

1 2 0 0 0 0,
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